

Fudbal	LIGA	Petak 27.02.26		KONAČAN ISHOD			45'/90'		UKUPNO GOLOVA						DUP.POBEDA		OBA TIMA DAJU GOL				
				K1	KX	K2	1-1	2-2	2+I	2+II	0-3	3+	4+	DP1	DP2	GG	NG	GG3+	GGI	GII	
09:30	4118	Australia 2 - Victori	Heidelberg Utd	Dandenong City	1.60	4.00	4.70	2.45	8.50	2.45	1.85	1.40	1.60	2.60	4.30	15.0	1.60	2.20	1.95	4.00	3.00
09:30	4119	Australia 2 - Victori	St Albans	Oakleigh Cannons	5.00	4.20	1.55	9.00	2.35	2.40	1.80	1.45	1.55	2.45	15.0	4.00	1.65	2.10	2.00	4.20	3.20
09:30	4166	Australia 2 NSW	Sydney FC U23	Marconi Stallions	4.00	4.20	1.60	7.00	2.45	2.30	1.75	1.50	1.50	2.30	14.2	4.30	1.57	2.25	1.85	3.80	2.90
09:35	4253	Australia 1	Melbourne Victory	Adelaide United	1.60	4.30	4.70	2.45	8.50	2.10	1.65	1.62	1.40	2.10	4.30	15.0	1.45	2.55	1.70	3.30	2.50
10:00	4211	Australia 2 NNSW	Adamstown Roseb	Kahibah	1.75	4.00	3.60	2.75	6.00	2.20	1.70	1.60	1.45	2.15	5.00	13.5	1.45	2.55	1.70	3.20	2.50
10:00	4249	Australia 2 NNSW	Broadmeadow	Valentine	1.20	6.50	12.0	1.60	22.0	1.80	1.45	2.00	1.25	1.70	2.10	30.0	1.80	1.90	2.00	4.25	3.25
10:00	4273	Australia 2 - South	Croydon	Para	1.40	4.70	5.80	2.05	10.2	1.90	1.50	1.85	1.30	1.80	3.20	16.0	1.45	2.55	1.65	3.20	2.50
10:30	4160	Australia Queensla	Queensland Lions	Gold Coast Knights	1.50	4.20	4.80	2.25	8.50	2.30	1.75	1.50	1.50	2.30	3.70	14.5	1.60	2.20	1.90	4.00	3.00
11:00	5568	Japan 1	Machida	Chiba	1.65	4.00	5.00	2.55	9.00	2.80	2.15	1.25	1.90	3.40	4.60	15.0	1.90	1.80	2.50	5.10	3.70
11:00	5569	Japan 1	Sanfrecce Hiroshim	Kyoto	1.80	3.70	4.30	2.85	7.50	2.70	2.05	1.28	1.80	3.20	5.25	14.5	1.75	1.95	2.25	4.60	3.40
11:00	5570	Japan 1	Vissel Kobe	Avispa Fukuoka	1.70	3.60	5.30	2.65	9.50	3.70	2.75	1.11	2.60	5.25	4.80	15.0	2.50	1.47	3.65	6.70	5.00
11:30	4389	Azerbaijan 1	Kapaz	Sumqayit	3.15	3.20	2.15	5.50	3.60	3.20	2.45	1.17	2.20	4.10	12.2	7.00	1.95	1.75	2.70	5.40	4.00
11:45	4406	Bulgaria 1	Arda	Spartak Varna	1.40	4.00	7.00	2.05	13.0	3.10	2.35	1.18	2.10	3.90	3.20	17.0	2.40	1.50	3.25	6.20	4.50
12:00	4108	Armenia 1	Ararat Yerevan	Alashkert	5.00	4.00	1.55	9.00	2.35	2.75	2.10	1.27	1.85	3.30	15.0	4.00	1.90	1.80	2.45	5.00	3.70
12:00	4291	Australia Western	Bayswater	Balcatta	1.60	4.20	4.20	2.45	7.50	2.20	1.70	1.60	1.45	2.15	4.30	14.5	1.55	2.30	1.80	3.70	2.90
12:00	4296	Australia Western	Perth Azzurri	Olympic Kingsway	3.50	3.80	1.80	5.90	2.85	2.45	1.85	1.40	1.60	2.60	13.2	5.25	1.60	2.20	1.95	4.00	3.00
12:00	5565	Italy Primavera 1	Genoa U20	Lazio U20	2.50	3.20	2.65	4.30	4.60	2.80	2.15	1.25	1.90	3.40	9.00	10.0	1.75	1.95	2.30	4.60	3.40
12:00	5651	Ukraine 1	Dyn. Kyiv	Epitsentr	1.30	5.00	9.00	1.82	17.0	2.45	1.85	1.40	1.60	2.60	2.60	21.0	2.10	1.65	2.60	5.40	4.00
12:30	5537	India 1	East Bengal	Jamshedpur	1.75	3.70	4.00	2.75	7.00	2.50	1.90	1.38	1.65	2.70	5.00	14.2	1.65	2.10	2.05	4.20	3.20
13:00	5644	Tunisia 1	JS Omrane	Ben Guerdane	2.10	2.80	3.80	3.50	6.50	4.00	2.90	1.03	3.00	5.85	6.75	14.0	2.35	1.52	3.60	6.50	4.70
13:00	5646	Tunisia 1	Zarzis	JS Kairouan	1.70	3.10	6.00	2.65	11.0	4.00	2.90	1.03	3.00	5.85	4.80	16.0	2.85	1.38	4.40	7.50	5.30
13:30	5622	Singapore 1	Tampines	Hougang	1.50	4.50	5.30	2.25	9.50	2.00	1.60	1.75	1.35	1.90	3.70	15.0	1.45	2.55	1.65	3.30	2.50
14:00	4043	England Developm	Barnsley U21	Coventry U21	2.40	3.80	2.25	4.10	3.80	1.90	1.50	1.85	1.30	1.80	8.25	7.50	1.35	2.90	1.50	2.90	2.25
14:00	4050	Macedonia 1	Bashkimi	Brera Strumica	1.65	3.70	4.30	2.55	7.50	2.50	1.90	1.38	1.65	2.70	4.60	14.5	1.65	2.10	2.05	4.20	3.20
14:00	4117	Armenia 1	Urartu	Van	1.60	3.80	5.00	2.45	9.00	2.75	2.10	1.27	1.85	3.30	4.30	15.0	1.85	1.85	2.40	4.90	3.60
14:00	5500	England U23	Southampton U21	Everton U21	1.95	3.70	3.00	3.10	5.30	2.40	1.80	1.45	1.55	2.45	6.00	12.0	1.55	2.30	1.85	3.70	2.90
14:00	5553	Israel 2	Bnei Yehuda	Ironi Modiin	1.55	3.80	5.50	2.35	10.0	2.70	2.05	1.28	1.80	3.20	4.00	16.0	1.85	1.85	2.40	4.90	3.50
14:00	5554	Israel 2	H. Akko	Nof Hagalil	2.50	3.10	2.70	4.30	4.70	3.20	2.45	1.17	2.20	4.10	9.00	10.2	1.85	1.85	2.55	5.00	3.70
14:00	5555	Israel 2	Hap. Ramat Gan	H. Ironi Rishon	2.35	3.20	2.85	4.00	5.00	2.90	2.20	1.23	1.95	3.50	8.00	11.2	1.72	1.98	2.25	4.50	3.40
14:00	5556	Israel 2	Maccabi Jaffa	H. Raanana	2.10	3.30	3.20	3.50	5.60	2.80	2.15	1.25	1.90	3.40	6.75	12.5	1.70	2.00	2.25	4.40	3.30
14:00	5557	Israel 2	Maccabi Petah Tikv	Hapoel Afula	1.25	5.50	10.0	1.72	19.0	2.30	1.75	1.50	1.50	2.30	2.30	24.0	1.95	1.75	2.30	4.70	3.50
14:00	5649	Turkey 2	Erokspor	Boluspor	1.50	4.30	5.55	2.25	10.0	2.45	1.85	1.40	1.60	2.60	3.70	16.0	1.70	2.00	2.10	4.40	3.30
14:00	5659	Uzbekistan 1	Buxoro	Kokand 1912	2.20	2.70	3.80	3.70	6.50	3.60	2.70	1.12	2.50	4.80	7.25	14.0	2.10	1.65	3.00	5.70	4.30
14:15	4407	Bulgaria 1	Montana	Botev Plovdiv	3.60	3.10	2.05	6.00	3.40	3.20	2.45	1.17	2.20	4.10	13.5	6.50	2.00	1.70	2.75	5.50	4.10
14:30	4020	Algeria 1	El Bayadh	USM Alger	2.85	2.60	2.80	5.00	4.90	4.00	2.90	1.03	3.00	5.85	11.2	11.0	2.50	1.47	3.85	6.80	5.00
14:30	4027	Algeria 1	Paradou	Oran	2.35	2.70	3.40	4.00	5.80	3.80	2.80	1.08	2.70	5.50	8.00	13.0	2.15	1.62	3.20	5.80	4.30
14:30	4044	England Developm	Charlton U21	Millwall U21	1.60	4.50	3.80	2.45	6.50	1.80	1.45	2.00	1.25	1.70	4.30	14.0	1.35	2.90	1.50	3.00	2.30
14:30	5536	Indonesia 1	PSBS Biak Numfor	PSIM Yogyakarta	3.10	3.70	2.00	5.50	3.25	2.50	1.90	1.38	1.65	2.70	12.2	6.25	1.60	2.20	2.00	4.00	3.00
14:30	5626	South Africa 2	Casric Stars	The Bees	1.55	3.60	5.50	2.35	10.0	3.10	2.35	1.18	2.10	3.90	4.00	16.0	2.20	1.60	3.00	5.80	4.30
14:30	5627	South Africa 2	Highbury	Gomora	2.05	2.80	3.70	3.40	6.20	3.90	2.85	1.06	2.80	5.75	6.50	13.8	2.35	1.52	3.65	6.50	4.70
14:30	5628	South Africa 2	Kruger United	Venda	2.15	2.70	3.50	3.60	5.90	3.70	2.75	1.11	2.60	5.25	7.00	13.2	2.15	1.62	3.15	5.80	4.30
14:30	5652	Ukraine 1	Shakhtar Donetsk	Veres-Rivne	1.15	6.50	12.0	1.50	22.0	2.20	1.70	1.60	1.45	2.15	1.90	30.0	2.00	1.70	2.35	4.50	3.40
14:45	5657	Uzbekistan 1	Andijan	Sogdiana	2.10	3.20	3.30	3.50	5.70	2.80	2.15	1.25	1.90	3.40	6.75	12.8	1.75	1.95	2.30	4.60	3.40
15:00	4006	Algeria 2	Annaba	US Chaouia	1.75	3.10	4.70	2.75	8.50	3.60	2.70	1.12	2.50	4.80	5.00	15.0	2.35	1.52	3.35	6.40	4.70
15:00	4007	Algeria 2	Beni Oulbane	CR Beni Thour	1.70	3.20	4.80	2.65	8.50	3.60	2.70	1.12	2.50	4.80	4.80	14.5	2.40	1.50	3.45	6.50	4.80
15:00	4009	Algeria 2	Magra	Djijel	2.00	2.80	3.80	3.25	6.50	3.80	2.80	1.08	2.70	5.50	6.25	14.0	2.35	1.52	3.50	6.50	4.70
15:00	4010	Algeria 2	MO Bejaia	MO Constantine	1.40	3.80	8.50	2.05	16.0	3.00	2.30	1.20	2.00	3.70	3.20	20.0	2.30	1.55	3.05	5.90	4.50
15:00	4012	Algeria 2	Telaghema	Khemis El Khechna	1.35	4.20	7.70	1.92	14.0	2.90	2.20	1.23	1.95	3.50	2.90	18.0	2.20	1.60	2.90	5.60	4.20
15:00	4052	Serbia 2	Trayal Krusevac	Vrsac	1.85	2.90	5.00	2.90	9.00	3.70	2.75	1.11	2.60	5.25	5.50	15.0	2.20	1.60	3.25	5.90	4.40
15:00	4393	Azerbaijan 1	Araz	Zira	3.40	3.00	2.15	5.80	3.60	3.35	2.50	1.15	2.30	4.40	13.0	7.00	1.90	1.80	2.70	5.30	3.90
15:00	5482	Croatia 2	Dubrava	Cibalia	3.30	3.00	2.20	5.70	3.70	3.10	2.35	1.18	2.10	3.90	12.8	7.25	1.85	1.85	2.50	5.00	3.70

Fudbal	LIGA	Petak 27.02.26		KONAČAN ISHOD			45'/90'		UKUPNO GOLOVA						DUP.POBEDA		OBA TIMA DAJU GOL				
				K1	KX	K2	1-1	2-2	2+I	2+II	0-3	3+	4+	DP1	DP2	GG	NG	GG3+	GGI	GII	
15:00	5485	Croatia 2	Sesvete	Karlovac	2.50	2.70	3.20	4.30	5.60	4.00	2.90	1.03	3.00	5.85	9.00	12.5	2.30	1.55	3.55	6.20	4.60
15:00	5538	India 1	Bengaluru FC	Punjab	2.05	3.20	3.30	3.40	5.70	2.75	2.10	1.27	1.85	3.30	6.50	12.8	1.70	2.00	2.20	4.40	3.30
15:00	5577	Malaysia 1	Terengganu	Kuala Lumpur City	2.40	3.30	2.80	4.10	4.90	2.60	2.00	1.30	1.75	3.00	8.25	11.0	1.60	2.20	2.05	4.00	3.00
15:00	5617	Russia 2	Fakel Voronezh	Ural	2.30	3.00	3.15	3.90	5.50	3.60	2.70	1.12	2.50	4.80	7.75	12.2	2.10	1.65	3.00	5.70	4.30
15:00	5623	Slovenia 2	Nafta	Rudar	1.50	4.20	5.80	2.25	10.2	2.70	2.05	1.28	1.80	3.20	3.70	16.0	1.95	1.75	2.50	5.30	3.90
15:00	5658	Uzbekistan 1	Pakhtakor	Qizilqum	1.35	4.50	8.00	1.92	15.0	2.55	1.95	1.35	1.70	2.80	2.90	19.0	2.10	1.65	2.65	5.40	4.00
16:00	5614	Romania 1	FC Hermannstadt	FC Botosani	3.05	3.20	2.35	5.40	4.00	3.20	2.45	1.17	2.20	4.10	12.0	8.00	1.85	1.85	2.55	5.00	3.70
16:00	5618	Russia 2	Kamaz	Arsenal Tula	2.05	3.20	3.40	3.40	5.80	3.20	2.45	1.17	2.20	4.10	6.50	13.0	1.95	1.75	2.70	5.40	4.00
16:45	4408	Bulgaria 1	Slavia Sofia	CSKA 1948 Sofia	3.60	3.40	1.95	6.00	3.10	2.90	2.20	1.23	1.95	3.50	13.5	6.00	1.80	1.90	2.40	4.80	3.50
17:00	5487	Czech Republic 2	Jihlava	Artis Brno	3.50	3.30	2.00	5.90	3.25	2.80	2.15	1.25	1.90	3.40	13.2	6.25	1.75	1.95	2.30	4.60	3.40
17:30	5616	Russia 1	Zenit	Baltika	1.55	3.80	6.80	2.35	12.0	3.20	2.45	1.17	2.20	4.10	4.00	17.0	2.35	1.52	3.25	6.20	4.50
18:00	4297	Austria 2	Austria Vienna (Am)	SK Rapid II	1.95	3.60	3.30	3.10	5.70	2.55	1.95	1.35	1.70	2.80	6.00	12.8	1.65	2.10	2.05	4.20	3.20
18:00	4299	Austria 2	Bregenz	A. Klagenfurt	1.75	3.80	3.80	2.75	6.50	2.55	1.95	1.35	1.70	2.80	5.00	14.0	1.70	2.00	2.15	4.40	3.30
18:00	4300	Austria 2	Hertha Wels	Admira	4.30	3.30	1.80	7.50	2.85	3.00	2.30	1.20	2.00	3.70	14.5	5.25	1.85	1.85	2.45	5.00	3.70
18:00	4307	Austria 2	Liefering	First Vienna	1.95	3.50	3.40	3.10	5.80	2.70	2.05	1.28	1.80	3.20	6.00	13.0	1.70	2.00	2.20	4.40	3.30
18:00	5481	Croatia 1	Slaven Belupo	Istra 1961	2.10	3.30	3.50	3.50	5.90	3.00	2.30	1.20	2.00	3.70	6.75	13.2	1.75	1.95	2.35	4.60	3.40
18:00	5486	Czech Republic 1	Dukla Prague	Slavia Prague	12.0	6.00	1.20	22.0	1.60	2.50	1.90	1.38	1.65	2.70	30.0	2.10	2.40	1.50	2.95	5.80	4.30
18:00	5489	Denmark 2	Hobro	Koge	2.20	3.20	3.30	3.70	5.70	2.90	2.20	1.23	1.95	3.50	7.25	12.8	1.75	1.95	2.30	4.60	3.40
18:00	5604	Poland 1	Cracovia	Piast Gliwice	2.25	3.10	3.45	3.80	5.80	3.50	2.60	1.13	2.40	4.70	7.50	13.0	2.05	1.67	2.95	5.60	4.20
18:00	5606	Poland 2	Pogon Siedlce	Leczna	2.25	3.20	3.05	3.80	5.40	2.90	2.20	1.23	1.95	3.50	7.50	12.0	1.72	1.98	2.25	4.50	3.40
18:00	5608	Poland 3	Podbeskidzie	Chojniczanka	2.15	3.30	3.15	3.60	5.50	2.75	2.10	1.27	1.85	3.30	7.00	12.2	1.70	2.00	2.20	4.40	3.30
18:00	5647	Turkey 1	Basaksehir	Konyaspor	1.75	3.80	4.60	2.75	8.00	2.55	1.95	1.35	1.70	2.80	5.00	14.8	1.70	2.00	2.15	4.40	3.30
18:00	5648	Turkey 1	Trabzonspor	Karagumruk	1.42	4.50	7.50	2.05	14.0	2.60	2.00	1.30	1.75	3.00	3.20	18.0	2.00	1.70	2.55	5.20	3.80
18:00	5650	Turkey 2	Istanbulspor AS	Igdir FK	3.10	3.90	2.00	5.50	3.25	2.30	1.75	1.50	1.50	2.30	12.2	6.25	1.45	2.55	1.70	3.30	2.50
18:15	5488	Czech Republic 2	Usti nad Labem	Kromeriz	1.75	4.00	3.80	2.75	6.50	2.50	1.90	1.38	1.65	2.70	5.00	14.0	1.65	2.10	2.05	4.20	3.20
18:30	5519	Germany 2	Dusseldorf	Bochum	2.30	3.30	3.05	3.90	5.40	2.70	2.05	1.28	1.80	3.20	7.75	12.0	1.65	2.10	2.15	4.20	3.20
18:30	5520	Germany 2	SG Dynamo Dresden	Darmstadt	2.80	3.50	2.40	4.90	4.10	2.55	1.95	1.35	1.70	2.80	11.0	8.25	1.60	2.20	2.00	4.00	3.00
18:30	5624	South Africa 1	Magesi	Polokwane	2.55	2.60	3.25	4.40	5.60	4.00	2.90	1.03	3.00	5.85	9.50	12.5	2.50	1.47	3.85	6.80	5.00
18:30	5625	South Africa 1	Stellenbosch	AmaZulu	2.20	2.80	3.55	3.70	5.90	3.70	2.75	1.11	2.60	5.25	7.25	13.2	2.15	1.62	3.15	5.80	4.30
18:30	5653	United Arab Emirat	Al Bataeh	Bani Yas	2.15	3.40	3.05	3.60	5.40	2.60	2.00	1.30	1.75	3.00	7.00	12.0	1.60	2.20	2.05	4.00	3.00
18:30	5654	United Arab Emirat	Dibba Al Fujairah	Al Nasr	3.40	3.60	1.90	5.80	3.00	2.55	1.95	1.35	1.70	2.80	13.0	5.75	1.62	2.15	2.05	4.10	3.10
18:30	5655	United Arab Emirat	Khorfakkan	Al Ain	7.20	5.00	1.30	13.0	1.82	2.20	1.70	1.60	1.45	2.15	17.0	2.60	1.72	1.98	2.00	4.20	3.20
19:00	4311	Austria 3 East	Marchfeld	TWL Elektra	1.25	5.00	10.0	1.72	19.0	2.10	1.65	1.62	1.40	2.10	2.30	24.0	1.75	1.95	2.05	4.15	3.20
19:00	4313	Austria 3 East	Neusiedl	Parndorf	3.40	3.60	1.90	5.80	3.00	2.45	1.85	1.40	1.60	2.60	13.0	5.75	1.52	2.35	1.85	3.60	2.80
19:00	4322	Austria 3 Central	Deutschlandsberge	Union Gurten	3.10	3.60	1.95	5.50	3.10	2.45	1.85	1.40	1.60	2.60	12.2	6.00	1.60	2.20	1.95	4.00	3.00
19:00	4324	Austria 3 Central	Gleisdorf	Oedt	4.30	4.30	1.55	7.50	2.35	2.10	1.65	1.62	1.40	2.10	14.5	4.00	1.50	2.40	1.75	3.50	2.60
19:00	4325	Austria 3 Central	Lafnitz	Atus Velden	1.90	3.70	3.10	3.00	5.50	2.10	1.65	1.62	1.40	2.10	5.75	12.2	1.40	2.70	1.65	3.10	2.40
19:00	4387	Austria 3 Central	LASK (Am)	Ried (Am)	1.35	5.00	5.50	1.92	10.0	1.80	1.45	2.00	1.25	1.70	2.90	16.0	1.45	2.55	1.60	3.20	2.50
19:00	4388	Austria 3 Central	SC Weiz	Wallern/St Marienk	2.10	3.70	2.70	3.50	4.70	2.20	1.70	1.60	1.45	2.15	6.75	10.2	1.40	2.70	1.65	3.10	2.40
19:00	4402	Brazil 1 - U20	Flamengo RJ U20	Vitoria U20	1.55	3.70	5.25	2.35	9.50	2.50	1.90	1.38	1.65	2.70	4.00	15.0	1.70	2.00	2.10	4.40	3.30
19:00	5490	Denmark 2	Aalborg	Hillerod	2.05	3.60	3.35	3.40	5.70	2.55	1.95	1.35	1.70	2.80	6.50	12.8	1.60	2.20	2.00	4.00	3.00
19:00	5491	Denmark 2	B.93	Hvidovre IF	3.60	3.60	1.95	6.00	3.10	2.60	2.00	1.30	1.75	3.00	13.5	6.00	1.65	2.10	2.10	4.20	3.20
19:00	5492	Denmark 2	Lyngby	Kolding IF	1.90	3.60	3.90	3.00	6.50	2.75	2.10	1.27	1.85	3.30	5.75	14.0	1.72	1.98	2.20	4.50	3.40
19:00	5521	Germany 3	Hoffenheim II	Munich 1860	2.50	3.50	2.50	4.30	4.30	2.40	1.80	1.45	1.55	2.45	9.00	9.00	1.50	2.40	1.80	3.50	2.70
19:00	5522	Germany Nordost	BFC Dynamo	Hertha Berlin II	2.15	3.60	2.90	3.60	5.10	2.50	1.90	1.38	1.65	2.70	7.00	11.5	1.60	2.20	2.00	4.00	3.00
19:00	5523	Germany Nordost	Chemnitzer	Babelsberg	1.80	3.80	3.70	2.85	6.20	2.50	1.90	1.38	1.65	2.70	5.25	13.8	1.75	1.95	2.15	4.60	3.40
19:00	5524	Germany Nordost	Eilenburg	Jena	4.50	4.30	1.55	8.00	2.35	2.40	1.80	1.45	1.55	2.45	14.8	4.00	1.75	1.95	2.10	4.60	3.40
19:00	5527	Germany North	Meppen	Hamburger SV II	1.35	5.00	6.75	1.92	12.0	1.90	1.50	1.85	1.30	1.80	2.90	17.0	1.50	2.40	1.70	3.50	2.60
19:00	5529	Germany Bayern	Bayern II	Hankofen-Hailing	1.40	4.80	6.35	2.05	11.0	2.00	1.60	1.75	1.35	1.90	3.20	17.0	1.55	2.30	1.80	3.60	2.80
19:00	5530	Germany Bayern	Buchbach	Furth II	2.60	3.80	2.30	4.50	3.90	2.30	1.75	1.50	1.50	2.30	9.75	7.75	1.45	2.55	1.70	3.30	2.50
19:00	5531	Germany Bayern	Nurnberg II	Wurzburger Kickers	2.50	3.30	2.60	4.30	4.50	2.55	1.95	1.35	1.70	2.80	9.00	9.75	1.55	2.30	1.95	3.70	2.90
19:00	5533	Iceland Cup - Leagu	Grotta	Volsungur	1.75	4.20	3.50	2.75	5.90	1.80	1.45	2.00	1.25	1.70	5.00	13.2	1.30	3.20	1.45	2.80	2.20
19:00	5559	Italy 2	Monza	Entella	1.60	3.80	5.65	2.45	10.2	3.00	2.30	1.20	2.00	3.70	4.30	16.0	2.00	1.70	2.65	5.50	4.10

Fudbal	LIGA	Petak 27.02.26		KONAČAN ISHOD			45'/90'		UKUPNO GOLOVA						DUP.POBEDA		OBA TIMA DAJU GOL				
				K1	KX	K2	1-1	2-2	2+I	2+II	0-3	3+	4+	DP1	DP2	GG	NG	GG3+	GGI	GII	
19:00	5615	Romania 1	U. Cluj	Otelul	2.05	3.20	3.85	3.40	6.50	3.20	2.45	1.17	2.20	4.10	6.50	14.0	2.00	1.70	2.75	5.50	4.10
19:00	5634	Spain 3 - Group 1	Lugo	Ath Bilbao B	2.35	3.10	3.00	4.00	5.30	3.50	2.60	1.13	2.40	4.70	8.00	12.0	2.10	1.65	3.00	5.70	4.30
19:00	5636	Sweden Cup	Orgryte	Mjallby	6.00	4.00	1.50	11.0	2.25	2.50	1.90	1.38	1.65	2.70	16.0	3.70	1.75	1.95	2.15	4.60	3.40
19:30	4321	Austria 3 East	SV Oberwart	Donaufeld Wien	1.60	4.00	4.50	2.45	8.00	2.45	1.85	1.40	1.60	2.60	4.30	14.8	1.65	2.10	2.05	4.20	3.20
19:30	5513	France 3	Chateauroux	Paris 13 Atl.	2.20	3.10	3.20	3.70	5.60	3.20	2.45	1.17	2.20	4.10	7.25	12.5	1.95	1.75	2.70	5.40	4.00
19:30	5514	France 3	Fleury-Merogis	Concarneau	2.00	3.30	3.45	3.25	5.80	3.10	2.35	1.18	2.10	3.90	6.25	13.0	1.85	1.85	2.50	5.00	3.70
19:30	5515	France 3	Le Puy-en-Velay	Stade Briochin	1.55	4.00	5.25	2.35	9.50	2.75	2.10	1.27	1.85	3.30	4.00	15.0	1.95	1.75	2.50	5.30	3.90
19:30	5516	France 3	Sochaux	Villefranche	1.60	3.60	5.30	2.45	9.50	2.90	2.20	1.23	1.95	3.50	4.30	15.0	1.95	1.75	2.55	5.40	4.00
19:30	5517	France 3	Versailles	Aubagne	2.05	3.10	3.60	3.40	6.00	3.10	2.35	1.18	2.10	3.90	6.50	13.5	1.85	1.85	2.50	5.00	3.70
19:30	5525	Germany West	Koln II	Bochum II	1.85	3.80	3.60	2.90	6.00	2.30	1.75	1.50	1.50	2.30	5.50	13.5	1.50	2.40	1.80	3.50	2.70
19:30	5526	Germany West	SSVg Velbert	Dusseldorf II	3.10	3.70	2.05	5.50	3.40	2.30	1.75	1.50	1.50	2.30	12.2	6.50	1.50	2.40	1.80	3.50	2.70
19:30	5528	Germany North	Drochtersen/Assel	Norderstedt	1.35	5.00	6.75	1.92	12.0	1.90	1.50	1.85	1.30	1.80	2.90	17.0	1.50	2.40	1.70	3.50	2.60
19:30	5612	Qatar 1	Al Ahli Doha	Al-Shahaniya	2.10	3.40	3.15	3.50	5.50	2.60	2.00	1.30	1.75	3.00	6.75	12.2	1.65	2.10	2.10	4.20	3.20
19:30	5613	Qatar 1	Umm-Salal	Al Wakra	3.40	4.00	1.85	5.80	2.90	2.30	1.75	1.50	1.50	2.30	13.0	5.50	1.50	2.40	1.80	3.50	2.70
19:30	5637	Switzerland 2	Bellinzona	Yverdon	3.00	3.40	2.15	5.30	3.60	2.60	2.00	1.30	1.75	3.00	12.0	7.00	1.65	2.10	2.10	4.20	3.20
19:45	5609	Portugal 1	FC Porto	Arouca	1.18	7.50	16.0	1.50	28.0	2.45	1.85	1.40	1.60	2.60	1.90	33.0	2.50	1.47	3.00	5.80	4.30
20:00	4045	England Developm	Cardiff U21	Swansea U21	2.15	4.00	2.50	3.60	4.30	1.90	1.50	1.85	1.30	1.80	7.00	9.00	1.30	3.20	1.45	2.70	2.10
20:00	4397	Belgium 2	Gent U23	Patro Eisden	2.80	3.30	2.30	4.90	3.90	2.75	2.10	1.27	1.85	3.30	11.0	7.75	1.70	2.00	2.20	4.40	3.30
20:00	4398	Belgium 2	Kortrijk	RFC Liege	1.60	3.80	5.00	2.45	9.00	2.75	2.10	1.27	1.85	3.30	4.30	15.0	1.85	1.85	2.40	4.90	3.60
20:00	5501	England U23	Arsenal U21	Ipswich U21	1.65	4.40	3.70	2.55	6.20	1.80	1.45	2.00	1.25	1.70	4.60	13.8	1.35	2.90	1.50	3.00	2.30
20:00	5502	England U23	Blackburn U21	Aston Villa U21	2.35	3.80	2.35	4.00	4.00	1.90	1.50	1.85	1.30	1.80	8.00	8.00	1.30	3.20	1.45	2.70	2.10
20:00	5503	England U23	Fulham U21	Burnley U21	1.45	4.30	5.00	2.15	9.00	2.00	1.60	1.75	1.35	1.90	3.50	15.0	1.45	2.55	1.65	3.20	2.50
20:00	5504	England U23	Manchester City U2	Nottingham U21	1.35	5.00	6.25	1.92	11.0	2.00	1.60	1.75	1.35	1.90	2.90	17.0	1.60	2.20	1.85	3.80	2.90
20:00	5505	England U23	Newcastle Utd U21	Brighton U21	2.90	3.70	2.00	5.10	3.25	2.30	1.75	1.50	1.50	2.30	11.5	6.25	1.45	2.55	1.70	3.30	2.50
20:00	5508	France 2	Bastia	Anncy	2.45	3.00	3.10	4.20	5.50	3.80	2.80	1.08	2.70	5.50	8.50	12.2	2.20	1.60	3.30	5.90	4.40
20:00	5509	France 2	Clermont	Dunkerque	2.90	3.00	2.55	5.10	4.40	2.90	2.20	1.23	1.95	3.50	11.5	9.50	1.75	1.95	2.30	4.60	3.40
20:00	5510	France 2	Grenoble	Boulogne	2.60	3.10	2.75	4.50	4.80	3.35	2.50	1.15	2.30	4.40	9.75	10.5	1.95	1.75	2.75	5.40	4.00
20:00	5511	France 2	Laval	Nancy	2.75	2.90	2.80	4.80	4.90	3.60	2.70	1.12	2.50	4.80	10.5	11.0	2.15	1.62	3.10	5.80	4.30
20:00	5512	France 2	Montpellier	Reims	2.90	3.40	2.35	5.10	4.00	3.10	2.35	1.18	2.10	3.90	11.5	8.00	1.85	1.85	2.50	5.00	3.70
20:00	5534	Iceland Cup - Leagu	Fylkir	Hafnarfjordur	2.90	4.30	1.95	5.10	3.10	1.90	1.50	1.85	1.30	1.80	11.5	6.00	1.35	2.90	1.50	2.90	2.25
20:00	5587	Netherlands 1	Telstar	NAC Breda	2.60	3.60	2.55	4.50	4.40	2.60	2.00	1.30	1.75	3.00	9.75	9.50	1.60	2.20	2.05	4.00	3.00
20:00	5588	Netherlands 2	Den Bosch	Roda	2.35	3.70	2.65	4.00	4.60	2.30	1.75	1.50	1.50	2.30	8.00	10.0	1.45	2.55	1.70	3.30	2.50
20:00	5589	Netherlands 2	Den Haag	Venlo	1.25	6.10	10.0	1.72	19.0	2.00	1.60	1.75	1.35	1.90	2.30	24.0	1.75	1.95	2.00	4.15	3.20
20:00	5590	Netherlands 2	FC Emmen	Willem II	2.55	3.40	2.55	4.40	4.40	2.45	1.85	1.40	1.60	2.60	9.50	9.50	1.50	2.40	1.85	3.50	2.70
20:00	5591	Netherlands 2	Jong Ajax	Helmond	2.45	3.50	2.65	4.20	4.60	2.50	1.90	1.38	1.65	2.70	8.50	10.0	1.55	2.30	1.90	3.70	2.90
20:00	5592	Netherlands 2	Jong PSV	Dordrecht	2.95	3.70	2.15	5.20	3.60	2.00	1.60	1.75	1.35	1.90	11.8	7.00	1.35	2.90	1.55	2.90	2.25
20:00	5593	Netherlands 2	Jong Utrecht	Almere City	2.90	3.60	2.25	5.10	3.80	2.20	1.70	1.60	1.45	2.15	11.5	7.50	1.40	2.70	1.65	3.10	2.40
20:00	5594	Netherlands 2	Maastricht	De Graafschap	3.75	4.30	1.75	6.20	2.75	2.00	1.60	1.75	1.35	1.90	13.8	5.00	1.40	2.70	1.60	3.00	2.30
20:00	5595	Netherlands 2	Oss	Cambuur	4.95	4.10	1.60	8.50	2.45	2.40	1.80	1.45	1.55	2.45	14.5	4.30	1.60	2.20	1.95	4.00	3.00
20:00	5596	Netherlands 2	Vitesse	Jong AZ	2.05	3.90	3.05	3.40	5.40	2.30	1.75	1.50	1.50	2.30	6.50	12.0	1.45	2.55	1.70	3.30	2.50
20:00	5597	Netherlands 2	Waalwijk	Eindhoven FC	1.90	3.70	3.70	3.00	6.20	2.45	1.85	1.40	1.60	2.60	5.75	13.8	1.55	2.30	1.90	3.70	2.90
20:00	5611	Portugal 3	Trofense	Mafra	2.60	2.90	2.70	4.50	4.70	3.50	2.60	1.13	2.40	4.70	9.75	10.2	2.10	1.65	3.00	5.70	4.30
20:00	5619	Saudi Arabia 1	Al Hazem	Al Ettifaq	2.85	3.40	2.35	5.00	4.00	2.60	2.00	1.30	1.75	3.00	11.2	8.00	1.62	2.15	2.05	4.10	3.10
20:00	5620	Saudi Arabia 1	Al Ittihad	Al Khaleej	1.55	4.20	5.20	2.35	9.50	2.20	1.70	1.60	1.45	2.15	4.00	15.0	1.55	2.30	1.80	3.70	2.90
20:00	5621	Saudi Arabia 1	Al Shabab	Al Hilal	6.00	5.20	1.40	11.0	2.05	2.10	1.65	1.62	1.40	2.10	16.0	3.20	1.65	2.10	1.90	4.10	3.10
20:15	5532	Hungary 1	Debrecen	MTK Budapest	1.90	3.80	3.30	3.00	5.70	2.45	1.85	1.40	1.60	2.60	5.75	12.8	1.60	2.20	1.95	4.00	3.00
20:15	5638	Switzerland 2	Aarau	Rapperswil-Jona	1.75	3.70	4.10	2.75	7.00	2.40	1.80	1.45	1.55	2.45	5.00	14.2	1.55	2.30	1.85	3.70	2.90
20:30	4310	Austria 2	St. Polten	Amstetten	2.00	3.40	3.30	3.25	5.70	2.55	1.95	1.35	1.70	2.80	6.25	12.8	1.60	2.20	2.00	4.00	3.00
20:30	4455	Egypt 2	Baladiyat El Mahall	WE SC	2.15	2.50	4.00	3.60	7.00	4.00	2.90	1.03	3.00	5.85	7.00	14.2	2.40	1.50	3.70	6.60	4.80
20:30	4456	Egypt 2	La Viena	Dayrout	1.75	2.80	5.25	2.75	9.50	3.80	2.80	1.08	2.70	5.50	5.00	15.0	2.30	1.55	3.45	6.20	4.50
20:30	5518	Germany 1	Augsburg	FC Koln	2.30	3.40	3.20	3.90	5.60	2.60	2.00	1.30	1.75	3.00	7.75	12.5	1.60	2.20	2.05	4.00	3.00
20:30	5561	Italy 3 - Group A	Arzignano	Novara	2.70	2.80	2.80	4.70	4.90	3.50	2.60	1.13	2.40	4.70	10.2	11.0	2.00	1.70	2.85	5.50	4.10
20:30	5562	Italy 3 - Group A	Cittadella	Ospitaletto	1.75	3.50	4.30	2.75	7.50	3.10	2.35	1.18	2.10	3.90	5.00	14.5	1.95	1.75	2.65	5.40	4.00

Fudbal	LIGA	Petak 27.02.26		KONAČAN ISHOD			45'/90'		UKUPNO GOLOVA					DUP.POBEDA		OBA TIMA DAJU GOL					
				K1	KX	K2	1-1	2-2	2+I	2+II	0-3	3+	4+	DP1	DP2	GG	NG	GG3+	GGI	GGII	
20:30	5564	Italy 3 - Group A	Pergolettese	Triestina	2.30	2.90	3.20	3.90	5.60	3.20	2.45	1.17	2.20	4.10	7.75	12.5	1.90	1.80	2.60	5.30	3.90
20:30	5605	Poland 1	Arka Gdynia	Lechia Gdansk	3.45	3.30	2.15	5.80	3.60	3.00	2.30	1.20	2.00	3.70	13.0	7.00	1.80	1.90	2.40	4.80	3.50
20:30	5633	Spain 2	Albacete	Almeria	2.50	3.40	2.70	4.30	4.70	2.55	1.95	1.35	1.70	2.80	9.00	10.2	1.60	2.20	2.00	4.00	3.00
20:45	4396	Belgium 1	St. Liege	RAAL La Louviere	2.35	3.10	3.25	4.00	5.60	3.50	2.60	1.13	2.40	4.70	8.00	12.5	2.00	1.70	2.85	5.50	4.10
20:45	5499	England 4	Harrogate	Cheltenham	2.65	3.20	2.65	4.60	4.60	3.00	2.30	1.20	2.00	3.70	10.0	10.0	1.75	1.95	2.35	4.60	3.40
20:45	5507	France 1	Strasbourg	Lens	2.50	3.60	2.80	4.30	4.90	2.50	1.90	1.38	1.65	2.70	9.00	11.0	1.52	2.35	1.90	3.60	2.80
20:45	5543	Ireland 1	Derry City	Waterford	1.45	4.20	6.50	2.15	12.0	2.70	2.05	1.28	1.80	3.20	3.50	17.0	1.95	1.75	2.50	5.10	3.70
20:45	5544	Ireland 1	Drogheda	Shelbourne	3.75	3.20	2.05	6.20	3.40	3.35	2.50	1.15	2.30	4.40	13.8	6.50	2.05	1.67	2.90	5.60	4.20
20:45	5545	Ireland 1	Galway	Sligo Rovers	1.70	3.60	5.00	2.65	9.00	2.90	2.20	1.23	1.95	3.50	4.80	15.0	1.90	1.80	2.50	5.30	3.80
20:45	5546	Ireland 1	St. Patricks	Dundalk	1.75	3.50	4.80	2.75	8.50	3.10	2.35	1.18	2.10	3.90	5.00	14.5	1.95	1.75	2.65	5.40	4.00
20:45	5548	Ireland 2	Athlone	Wexford	2.55	3.40	2.50	4.40	4.30	2.70	2.05	1.28	1.80	3.20	9.50	9.00	1.70	2.00	2.20	4.40	3.30
20:45	5549	Ireland 2	Cobh Ramblers	Finn Harps	1.55	4.00	5.00	2.35	9.00	2.55	1.95	1.35	1.70	2.80	4.00	15.0	1.80	1.90	2.25	4.70	3.50
20:45	5550	Ireland 2	Cork City	Bray	1.50	3.80	6.00	2.25	11.0	2.80	2.15	1.25	1.90	3.40	3.70	16.0	2.10	1.65	2.80	5.60	4.20
20:45	5551	Ireland 2	Kerry	Longford	2.25	3.40	2.90	3.80	5.10	2.90	2.20	1.23	1.95	3.50	7.50	11.5	1.80	1.90	2.40	4.80	3.50
20:45	5552	Ireland 2	UC Dublin	Treaty United	2.25	3.40	2.85	3.80	5.00	2.80	2.15	1.25	1.90	3.40	7.50	11.2	1.75	1.95	2.30	4.60	3.40
20:45	5558	Italy 1	Parma	Cagliari	2.50	3.00	3.25	4.30	5.60	3.60	2.70	1.12	2.50	4.80	9.00	12.5	2.05	1.67	2.95	5.60	4.20
20:45	5600	Northern Ireland 2	Dundela	Limavady	8.50	5.00	1.25	16.0	1.72	2.30	1.75	1.50	1.50	2.30	20.0	2.30	1.90	1.80	2.25	4.60	3.40
20:45	5660	Wales 1	Bala	Llanelli	1.40	4.50	6.80	2.05	12.0	2.70	2.05	1.28	1.80	3.20	3.20	17.0	2.00	1.70	2.60	5.20	3.80
20:45	5661	Wales 1	Cardiff Metropolitan	Briton Ferry	1.70	3.80	4.00	2.65	7.00	2.45	1.85	1.40	1.60	2.60	4.80	14.2	1.60	2.20	1.95	4.00	3.00
20:45	5662	Wales 1	Caernarfon	Colwyn Bay	2.15	3.60	2.90	3.60	5.10	2.55	1.95	1.35	1.70	2.80	7.00	11.5	1.60	2.20	2.00	4.00	3.00
20:45	5663	Wales 2 - North	Holywell	Denbigh	1.40	4.50	5.80	2.05	10.2	2.30	1.75	1.50	1.50	2.30	3.20	16.0	1.70	2.00	2.00	4.20	3.20
20:45	5665	Wales 2 - South	Baglan Dragons	Cwmbran Celtic	1.50	3.70	5.30	2.25	9.50	3.00	2.30	1.20	2.00	3.70	3.70	15.0	2.10	1.65	2.80	5.60	4.20
21:00	4080	Argentina 4	Argentino de Quilm	Argentino de Merlo	2.70	2.60	2.95	4.70	5.20	3.70	2.75	1.11	2.60	5.25	10.2	11.8	2.10	1.65	3.10	5.70	4.30
21:00	4081	Argentina 4	Defensores Unidos	Arsenal Sarandi	2.95	2.80	2.50	5.20	4.30	3.80	2.80	1.08	2.70	5.50	11.8	9.00	2.20	1.60	3.30	5.90	4.40
21:00	4092	Argentina 4	Dock Sud	Villa Dalmine	2.55	2.70	3.00	4.40	5.30	3.90	2.85	1.06	2.80	5.75	9.50	12.0	2.20	1.60	3.40	5.90	4.40
21:00	4093	Argentina 4	Sportivo Italiano	Liniers	2.15	2.70	3.80	3.60	6.50	4.00	2.90	1.03	3.00	5.85	7.00	14.0	2.40	1.50	3.70	6.60	4.80
21:00	4414	Colombia 2	Bogota	Atletico F.C.	1.80	3.40	4.30	2.85	7.50	3.00	2.30	1.20	2.00	3.70	5.25	14.5	1.90	1.80	2.55	5.30	3.90
21:00	4415	Colombia 2	Leones	Ind. Yumbo	3.20	3.10	2.25	5.60	3.80	3.10	2.35	1.18	2.10	3.90	12.5	7.50	1.90	1.80	2.60	5.30	3.90
21:00	5497	England 1	Wolves	Aston Villa	4.00	3.60	1.95	7.00	3.10	2.80	2.15	1.25	1.90	3.40	14.2	6.00	1.80	1.90	2.40	4.80	3.50
21:00	5498	England 2	Bristol City	Watford	2.40	3.40	3.00	4.10	5.30	2.75	2.10	1.27	1.85	3.30	8.25	12.0	1.75	1.95	2.25	4.60	3.40
21:00	5547	Ireland 1	Bohemians	Shamrock Rovers	2.55	2.80	3.05	4.40	5.40	3.50	2.60	1.13	2.40	4.70	9.50	12.0	1.95	1.75	2.80	5.40	4.00
21:00	5560	Italy 2	Sampdoria	Bari	1.75	3.40	4.95	2.75	8.50	3.20	2.45	1.17	2.20	4.10	5.00	14.5	2.00	1.70	2.75	5.50	4.10
21:00	5601	Peru 1	Alianza Atl.	AD Tarma	1.85	3.00	5.00	2.90	9.00	3.70	2.75	1.11	2.60	5.25	5.50	15.0	2.20	1.60	3.25	5.90	4.40
21:00	5607	Poland 2	S. Rzeszow	Ruch Chorzow	2.60	3.30	2.50	4.50	4.30	2.55	1.95	1.35	1.70	2.80	9.75	9.00	1.55	2.30	1.95	3.70	2.90
21:00	5632	Spain 1	Levante	Alaves	2.70	3.10	2.90	4.70	5.10	3.50	2.60	1.13	2.40	4.70	10.2	11.5	2.00	1.70	2.85	5.50	4.10
21:00	5664	Wales 2 - North	Flint Mountain	Newtown	3.70	4.00	1.70	6.20	2.65	2.30	1.75	1.50	1.50	2.30	13.8	4.80	1.50	2.40	1.80	3.50	2.60
21:15	5635	Spain 3 - Group 1	Tenerife	Real Aviles	1.25	5.00	10.0	1.72	19.0	2.70	2.05	1.28	1.80	3.20	2.30	24.0	2.35	1.52	3.05	5.70	4.30
21:45	5610	Portugal 1	Sporting CP	Estoril	1.20	7.00	12.0	1.60	22.0	1.90	1.50	1.85	1.30	1.80	2.10	30.0	1.75	1.95	1.95	4.15	3.20
22:00	4013	Algeria 2	CA Batna	Biskra	2.00	2.80	3.80	3.25	6.50	4.00	2.90	1.03	3.00	5.85	6.25	14.0	2.45	1.48	3.75	6.70	4.90
22:00	4014	Algeria 2	Khroub	MSP Batna	1.85	3.10	4.00	2.90	7.00	3.50	2.60	1.13	2.40	4.70	5.50	14.2	2.20	1.60	3.15	5.90	4.40
22:00	4036	Algeria 1	Saoura	Ben Aknoun	1.70	3.30	5.00	2.65	9.00	3.35	2.50	1.15	2.30	4.40	4.80	15.0	2.20	1.60	3.10	5.90	4.40
22:00	4409	Chile 1	Cobresal	La Serena	2.15	3.20	3.35	3.60	5.70	3.00	2.30	1.20	2.00	3.70	7.00	12.8	1.75	1.95	2.35	4.60	3.40
22:00	4411	Chile 2	Recoleta	U. Espanola	2.95	3.10	2.30	5.20	3.90	3.00	2.30	1.20	2.00	3.70	11.8	7.75	1.80	1.90	2.40	4.80	3.50
22:00	5585	Morocco 1	FAR Rabat	COD Meknes	1.35	4.30	9.00	1.92	17.0	3.10	2.35	1.18	2.10	3.90	2.90	21.0	2.60	1.43	3.50	6.60	4.80
22:00	5586	Morocco 1	Maghreb Fez	Kawkab Marrakech	1.75	3.10	5.00	2.75	9.00	3.60	2.70	1.12	2.50	4.80	5.00	15.0	2.35	1.52	3.35	6.40	4.70
22:30	5666	Venezuela 1	Portuguesa	Monagas	2.15	3.20	3.25	3.60	5.60	3.00	2.30	1.20	2.00	3.70	7.00	12.5	1.80	1.90	2.40	4.80	3.50
23:00	4403	Brazil 1 - U20	Palmeiras U20	Athletico-PR U20	1.40	4.00	6.25	2.05	11.0	2.45	1.85	1.40	1.60	2.60	3.20	17.0	1.70	2.00	2.10	4.20	3.20
23:45	5602	Peru 1	FBC Melgar	Los Chankas	1.40	4.50	7.50	2.05	14.0	2.60	2.00	1.30	1.75	3.00	3.20	18.0	1.95	1.75	2.45	5.10	3.70
Fudbal	LIGA	Subota 28.02.26		KONAČAN ISHOD			45'/90'		UKUPNO GOLOVA					DUP.POBEDA		OBA TIMA DAJU GOL					
				K1	KX	K2	1-1	2-2	2+I	2+II	0-3	3+	4+	DP1	DP2	GG	NG	GG3+	GGI	GGII	
00:00	4399	Brazil Carioca	Volta Redonda (0)	Bangu (1)	1.65	3.50	5.20	2.55	9.50	3.10	2.35	1.18	2.10	3.90	4.60	15.0	2.10	1.65	2.85	5.70	4.30

Fudbal	LIGA	Subota 28.02.26		KONAČAN ISHOD			45'/90'		UKUPNO GOLOVA					DUP.POBEDA		OBA TIMA DAJU GOL					
				K1	KX	K2	1-1	2-2	2+I	2+II	0-3	3+	4+	DP1	DP2	GG	NG	GG3+	GGI	GGII	
00:00	4400	Brazil Catarinense	Joinville	Figueirense	3.20	3.00	2.20	5.60	3.70	3.10	2.35	1.18	2.10	3.90	12.5	7.25	1.85	1.85	2.50	5.00	3.70
00:00	5582	Mexico 2	Alebrijes Oaxaca	Dorados de Sinaloa	1.55	3.80	5.30	2.35	9.50	2.75	2.10	1.27	1.85	3.30	4.00	15.0	1.90	1.80	2.45	5.00	3.70
00:00	5656	Uruguay 1	CA Cerro	Boston River	3.25	2.90	2.45	5.60	4.20	3.70	2.75	1.11	2.60	5.25	12.5	8.50	2.15	1.62	3.15	5.80	4.30
00:30	4094	Argentina 4	Dep. Merlo	UAI Urquiza	2.15	2.60	4.00	3.60	7.00	3.90	2.85	1.06	2.80	5.75	7.00	14.2	2.20	1.60	3.40	5.90	4.40
00:30	4095	Argentina 4	Ituzaingo	Brown Adrogue	2.90	2.60	2.70	5.10	4.70	4.00	2.90	1.03	3.00	5.85	11.5	10.2	2.35	1.52	3.60	6.50	4.70
00:30	4105	Argentina 4	San Martin Burzaco	Villa San Carlos	2.30	2.90	3.25	3.90	5.60	3.60	2.70	1.12	2.50	4.80	7.75	12.5	2.10	1.65	3.00	5.70	4.30
00:30	4410	Chile 1	Union La Calera	A. Italiano	2.55	3.00	2.85	4.40	5.00	3.50	2.60	1.13	2.40	4.70	9.50	11.2	1.95	1.75	2.80	5.40	4.00
00:30	4412	Chile 2	CD Santa Cruz	Cobreloa	2.70	2.90	2.65	4.70	4.60	3.10	2.35	1.18	2.10	3.90	10.2	10.0	1.85	1.85	2.50	5.00	3.70
00:30	5667	Venezuela 1	Puerto Cabello	Estudiantes Merida	1.60	3.60	5.50	2.45	10.0	3.00	2.30	1.20	2.00	3.70	4.30	16.0	1.95	1.75	2.60	5.40	4.00
01:30	5493	Ecuador 1	Tecnico U.	Orense	1.95	3.10	4.00	3.10	7.00	3.50	2.60	1.13	2.40	4.70	6.00	14.2	2.10	1.65	3.00	5.70	4.30
02:00	4078	Argentina 2	Gimnasia y Tiro	Almagro	1.90	2.70	5.30	3.00	9.50	4.00	2.90	1.03	3.00	5.85	5.75	15.0	2.40	1.50	3.70	6.60	4.80
02:00	5578	Mexico 1	Mazatlan FC	Pachuca	3.80	3.50	1.95	6.50	3.10	2.75	2.10	1.27	1.85	3.30	14.0	6.00	1.75	1.95	2.25	4.60	3.40
02:00	5579	Mexico 1	Queretaro	Santos Laguna	1.90	3.60	4.00	3.00	7.00	2.60	2.00	1.30	1.75	3.00	5.75	14.2	1.65	2.10	2.10	4.20	3.20
02:00	5583	Mexico 2	Correcaminos	Tapatio	2.60	3.20	2.55	4.50	4.40	2.75	2.10	1.27	1.85	3.30	9.75	9.50	1.65	2.10	2.15	4.20	3.20
02:00	5584	Mexico 2	Zacatecas Mineros	Venados	1.80	4.00	3.50	2.85	5.90	2.40	1.80	1.45	1.55	2.45	5.25	13.2	1.55	2.30	1.85	3.70	2.90
02:15	5603	Peru 1	Deportivo Garcilaso	Cienciano	2.60	3.20	2.70	4.50	4.70	3.00	2.30	1.20	2.00	3.70	9.75	10.2	1.75	1.95	2.35	4.60	3.40
02:30	4413	Colombia 1	Once Caldas	Chico	1.40	4.20	8.00	2.05	15.0	3.00	2.30	1.20	2.00	3.70	3.20	19.0	2.30	1.55	3.05	5.90	4.50
04:00	4138	Australia 2 - Victori	Hume City	Bentleigh Greens	2.00	3.30	3.25	3.25	5.60	2.80	2.15	1.25	1.90	3.40	6.25	12.5	1.75	1.95	2.30	4.60	3.40
04:00	5580	Mexico 1	Juarez	Atlas	2.10	3.40	3.50	3.50	5.90	3.00	2.30	1.20	2.00	3.70	6.75	13.2	1.82	1.88	2.45	4.80	3.60
04:06	5581	Mexico 1	Club Tijuana	UNAM Pumas	2.45	3.30	2.85	4.20	5.00	2.90	2.20	1.23	1.95	3.50	8.50	11.2	1.72	1.98	2.25	4.50	3.40
05:00	4159	Australia 2 - Victori	Avondale FC	Green Gully	1.90	3.60	3.20	3.00	5.60	2.30	1.75	1.50	1.50	2.30	5.75	12.5	1.50	2.40	1.80	3.50	2.70
05:00	4254	Australia 1	Auckland FC	Melbourne City	2.00	3.40	3.80	3.25	6.50	2.80	2.15	1.25	1.90	3.40	6.25	14.0	1.75	1.95	2.30	4.60	3.40
05:00	5571	Japan 1	Yokohama F. Mariner	Verdy	2.45	3.10	3.05	4.20	5.40	3.50	2.60	1.13	2.40	4.70	8.50	12.0	2.05	1.67	2.95	5.60	4.20
05:30	4275	Australia 2 - South	Campbelltown City	NE Metrostars	3.60	3.70	1.75	6.00	2.75	2.30	1.75	1.50	1.50	2.30	13.5	5.00	1.50	2.40	1.80	3.50	2.60
05:30	4276	Australia 2 - South	Playford Patriots	Adelaide United U2	2.05	3.80	2.75	3.40	4.80	2.00	1.60	1.75	1.35	1.90	6.50	10.5	1.35	2.90	1.55	2.90	2.25
06:00	4161	Australia Queensla	Magic United	Peninsula	4.30	4.20	1.55	7.50	2.35	2.20	1.70	1.60	1.45	2.15	14.5	4.00	1.55	2.30	1.80	3.70	2.90
06:00	5572	Japan 1	Urawa Reds	Kashima Antlers	2.65	3.40	2.55	4.60	4.40	2.90	2.20	1.23	1.95	3.50	10.0	9.50	1.75	1.95	2.30	4.60	3.40
06:00	5629	South Korea 1	Incheon	Seoul	3.80	3.10	2.10	6.50	3.50	3.10	2.35	1.18	2.10	3.90	14.0	6.75	1.85	1.85	2.50	5.00	3.70
06:00	5630	South Korea 1	Ulsan HD	Gangwon	2.30	3.20	3.10	3.90	5.50	3.20	2.45	1.17	2.20	4.10	7.75	12.2	1.85	1.85	2.55	5.00	3.70
07:00	4153	Australia 2 NSW	APIA Leichhardt	Wollongong Wolves	1.40	4.50	5.50	2.05	10.0	2.20	1.70	1.60	1.45	2.15	3.20	16.0	1.65	2.10	1.95	4.10	3.10
07:00	4190	Australia 2 NSW	SD Raiders	Rockdale Ilinden	4.30	4.00	1.60	7.50	2.45	2.10	1.65	1.62	1.40	2.10	14.5	4.30	1.45	2.55	1.70	3.30	2.50
07:00	4210	Australia 2 NSW	Sydney Olympic	NWS Spirit	2.35	3.60	2.40	4.00	4.10	2.40	1.80	1.45	1.55	2.45	8.00	8.25	1.50	2.40	1.80	3.50	2.70
07:00	4250	Australia 2 NNSW	Lambton J.	Edgeworth E.	2.05	3.70	2.80	3.40	4.90	2.40	1.80	1.45	1.55	2.45	6.50	11.0	1.50	2.40	1.80	3.50	2.70
07:00	4264	Australia 1	Central Coast Mariners	Newcastle Jets	4.30	4.20	1.70	7.50	2.65	2.00	1.60	1.75	1.35	1.90	14.5	4.80	1.42	2.65	1.65	3.00	2.30
07:00	5573	Japan 1	FC Tokyo	Kashiwa Reysol	2.70	3.30	2.60	4.70	4.50	2.70	2.05	1.28	1.80	3.20	10.2	9.75	1.62	2.15	2.10	4.10	3.10
07:00	5574	Japan 1	Gamba Osaka	Shimizu S-Pulse	2.00	3.60	3.60	3.25	6.00	2.60	2.00	1.30	1.75	3.00	6.25	13.5	1.65	2.10	2.10	4.20	3.20
08:00	4145	Australia 2 - Victori	George Cross	Dandenong Thunder	2.15	3.40	2.80	3.60	4.90	2.45	1.85	1.40	1.60	2.60	7.00	11.0	1.50	2.40	1.85	3.50	2.70
08:00	4148	Australia Queensla	Rochdale	Gold Coast Utd	1.90	3.80	3.10	3.00	5.50	2.20	1.70	1.60	1.45	2.15	5.75	12.2	1.45	2.55	1.70	3.30	2.50
08:00	4163	Australia 1	Brisbane Roar	Perth Glory	2.15	3.50	3.25	3.60	5.60	2.70	2.05	1.28	1.80	3.20	7.00	12.5	1.67	2.05	2.15	4.30	3.20
08:00	4170	Australia Western	Armadale	Western Knights	2.30	3.70	2.45	3.90	4.20	2.00	1.60	1.75	1.35	1.90	7.75	8.50	1.35	2.90	1.55	2.90	2.25
08:00	4171	Australia Western	Fremantle City	Stirling Macedonia	3.60	4.00	1.70	6.00	2.65	2.20	1.70	1.60	1.45	2.15	13.5	4.80	1.45	2.55	1.70	3.20	2.50
08:00	4172	Australia Western	Perth RedStar	Dianella White Eagles	1.65	3.80	4.10	2.55	7.00	2.30	1.75	1.50	1.50	2.30	4.60	14.2	1.50	2.40	1.80	3.50	2.60
08:00	4173	Australia Western	Sorrento	Perth Glory U23	2.85	3.80	2.00	5.00	3.25	2.10	1.65	1.62	1.40	2.10	11.2	6.25	1.40	2.70	1.65	3.10	2.40
08:15	4146	Australia 2 - Victori	Altona Magic	South Melbourne	2.80	3.10	2.30	4.90	3.90	2.60	2.00	1.30	1.75	3.00	11.0	7.75	1.60	2.20	2.05	4.00	3.00
08:30	4152	Australia 2 NSW	St George Saints	UNSW	1.65	3.80	4.30	2.55	7.50	2.30	1.75	1.50	1.50	2.30	4.60	14.5	1.55	2.30	1.85	3.70	2.90
08:30	4167	Australia 2 - South	Adelaide Comets	West Torrens	2.20	3.30	2.75	3.70	4.80	2.45	1.85	1.40	1.60	2.60	7.25	10.5	1.55	2.30	1.90	3.70	2.90
08:30	5287	South Korea 1	Gimcheon Sangmu	Pohang	2.60	3.20	2.70	4.50	4.70	3.00	2.30	1.20	2.00	3.70	9.75	10.2	1.77	1.93	2.35	4.70	3.50
08:30	5293	South Korea 2	Suwon Bluewings	Seoul E-Land	2.05	3.50	3.10	3.40	5.50	2.75	2.10	1.27	1.85	3.30	6.50	12.2	1.75	1.95	2.25	4.60	3.40
09:00	4149	Australia Queensla	Brisbane City	Moreton City Excels	3.20	3.80	1.85	5.60	2.90	2.10	1.65	1.62	1.40	2.10	12.5	5.50	1.45	2.55	1.70	3.30	2.50
09:00	4156	Australia 2 NNSW	Maitland	Weston Bears	2.65	3.70	2.15	4.60	3.60	2.10	1.65	1.62	1.40	2.10	10.0	7.00	1.40	2.70	1.65	3.10	2.40
09:00	4950	Japan 1	V-Varen Nagasaki	Cerezo Osaka	2.60	3.40	2.60	4.50	4.50	2.70	2.05	1.28	1.80	3.20	9.75	9.75	1.62	2.15	2.10	4.10	3.10
09:15	4154	Australia 2 NSW	St. George City	WS Wanderers U21	1.80	3.40	3.80	2.85	6.50	2.60	2.00	1.30	1.75	3.00	5.25	14.0	1.70	2.00	2.15	4.40	3.30
09:30	4168	Australia 2 - South	Adelaide City	West Adelaide	1.30	4.80	7.50	1.82	14.0	2.40	1.80	1.45	1.55	2.45	2.60	18.0	1.90	1.80	2.30	4.80	3.5